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= 34,636 35,040 ~404

2 1,242,899 1,176,608 66,291

NASE 480 X & 1,400,206 1,402,920 ~2,714

=2 188,962 191,272 £2,310

< 34,636 35,040 A 404

2 1,176,608 1,176,608 0

TEEN I EICEEPIEEEY 1,400,206 1,402,920 ~2,714

= 188,962 191,272 £2,310

= 34,636 35,040 ~404

2 1,176,608 1,176,608 0

NZoE20 AtiHl X8 144,786 228,279 83,493

= 115,828 170,372 A54,544

= 20,270 29,815 £9,545

2 8,688 28,002 A19,404

101 1218 0 83,493 183,493

2 0 54,544 A54,544

= 0 9,545 ~9,545

2 0 19,404 A 19,404
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OCIBZ20f 22IA 0 83,493 83,493

- 201(2%) 0 77,405 AT7,405

2 0 54,544 A54,544
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2 19,404 0 19,404
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